
















In[544]:= Plot@134 ê H-tL^H3 ê 8L, 8t, -0.12, -2.18<,
ImageSize Ø 300, AspectRatio Ø 1, PlotStyle Ø 8Black, Thick<,
Frame Ø True, Axes Ø False, FrameLabel Ø 8"t-tc HsecL", "fGW HHzL"<,

GridLines Ø 88<, 80<<, LabelStyle Ø Medium, PlotRange Ø AllD
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In[543]:= PlotB1 ê H-tL^H1 ê 4L Cos@1340 H-tL^H5 ê 8LD, 8t, -0.12, -2.18<,

PlotStyle Ø 8Black<, ImageSize Ø 500, AspectRatio Ø 2 ê 3, Frame Ø True,

Axes Ø False, FrameLabel Ø :"t-tc HsecL", "
h+

h0

">, GridLines Ø 88<, 80<<,

LabelStyle Ø Medium, PlotLabel Ø "h0=4.3 10-21", PlotPoints Ø 1000F
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